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DFSAETH K B BIUE
HT HK A0 (58) A (40) An GH
H #HT 480 400 393 793
AT 1,790 1, 667 1,798 3,465
JHET 981 898 835 1,733
== 1T 1,259 993 1,052 2,045
FFHT 1,963 1,813 1,916 3,729
JTHT 1, 647 1,701 1,837 3,538
i 841 929 969 1,898
A AET 612 516 566 1,082
At ZEHT 891 864 889 1,753
BT 695 625 621 1,246
HAET1 T H 885 846 845 1,691
HARET2 TH 798 781 760 1,541
PEFTIR 1 T H 2,196 1,848 1,971 3,819
VEETIR 2 T H 977 876 913 1,789
FRET 1T H 1,574 1,307 1,663 2,970
T2 TH 1,246 955 1,114 2, 069
kAT 3 T H 1,421 1,426 1,519 2,945
T4 TH 2,851 2,646 2, 872 5,518
SRHET 931 901 939 1,840
FRAEHT 1,219 1,163 1,246 2, 409
EFIT1 TH 518 451 498 949
EJFET2 TH 780 849 800 1,649
KT 3 T H 730 718 710 1,428
EJFIT4 TH 211 215 198 413
EJFET5 TH 472 449 194 943
AL P IR BT 1,107 1,137 1,083 2,220
[ B AT 1,578 1,653 1,777 3, 430
FiEs 1, 201 1,248 1,304 2,562
E1TH 430 464 495 959
tE 2 TH 623 738 744 1,482
tE3TH 482 538 532 1,070
EE4 T H 403 517 493 1,010
FAZENT 1,411 1,057 1,101 2,158
=L 723 703 733 1,436
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A FI54ET A K HBIUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,026 841 1,030 1,871
ERNET 908 977 998 1,975
KETHH 159 93 146 239
[icg gzl 875 916 879 1,795
HOHTHHT 1,013 1,095 1,083 2, 178
KFEHE 1,748 2,036 2,009 4,045
KFFRIL 1,512 1,530 1,599 3,129
Al - /N 6,177 6, 378 6, 362 12, 740
KT TNLEm 4,935 5,377 5,383 10, 760
KR EE 4,766 4, 569 4,628 9,197
WAL 967 802 842 1, 644
[EREa 494 406 408 814
S 1,502 1,362 1,464 2,826
EoE1TH 544 534 508 1,042
BEo=2TH 714 638 646 1,284
KFEA K 4,773 5,012 5,040 10, 052
KFEFIE 3,411 3, 656 3, 667 7,323
KFA 11,057 11, 557 12,110 23, 667
K7 Eilin 2,003 2, 057 2,047 4,104
/INFFRET1 TH 2, 634 2,331 2,714 5, 045
/INFFRET2 TH 1,287 1,237 1,216 2,453
/INFFRET3 TH 2,433 2,199 2, 479 4,678
/INFFRET4 TH 1,585 1,491 1,519 3,010
KEd s 1,065 1,174 1,152 2,326
KFEFE 2,370 2, 563 2, 649 5,212
KFAH A A 730 628 718 1,346
== = 852 993 991 1,984
KFEdsit 75 110 89 199
1 T H 910 987 1,031 2,018
2 TH 977 1,093 1,113 2, 206
B3 T H 874 777 892 1, 669
B4 TH 678 693 796 1,489
w5 TH 793 797 875 1,672
KFRZT 327 315 333 648
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BRI5METH K H BUAE
my 4 A AR (B AR (&) AR GH
KT 204 249 234 483
KPR 811 953 980 1,933
RF-H HH 144 182 180 362
KFBTH 148 181 162 343
KFHIH 16 21 19 40
KFFE A 462 542 500 1,042
Pl 1 TH 1,057 1,020 1,133 2,153
il E2TH 1,137 1,154 1,201 2, 355
=M1 TH 945 1,006 1,081 2, 087
M2 TH 356 323 386 709
3 TH 829 853 882 1,735
A TH 1,204 1,138 1,184 2,322
HRLAr 1 TR 1,645 1, 485 1,619 3,104
WL F2 TH 1,415 1,536 1,561 3,097
Bkl 3 TH 777 829 928 1,757
WL F4 T H 363 221 308 529
WL E5 T H 158 152 169 321
WL 6 TH 592 483 576 1,059
Pl 1 TH 1,084 1,126 1,091 2,217
w2 TH 323 333 367 700
farE1TH 1,498 1,436 1,394 2,830
My 2TH 631 729 739 1,468
M3 TH 858 829 846 1,675
#1TH 277 344 306 650
H2TH 269 326 329 655
#3TH 1,410 1, 423 1, 461 2,884
= &1TH 365 444 405 849
= E2TH 191 219 221 440
= &3TH 288 355 338 693
=E4TH 425 489 451 940
—&5TH 684 722 700 1, 422
HEA 342 408 390 798
| 226 279 284 563
WA2TH 937 909 887 1,796




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

DFN5ETH K HBAE
i) % A (59) AB (%) UNEGD)
WA3TH , 063 1,388 1,509 2,897
WAR4TH 113 82 127 209
WA7TH 338 353 370 723
WA TH , 540 1,162 1, 399 2,561
FRER1ITH , T44 1, 864 1,920 3,784
FRER2TH 940 1,006 978 1,984
1 TH 234 255 270 525
2 TH 482 586 625 1,211
It 3TH , 031 1,140 1,168 2, 308
4 TH 60 80 71 151
e [ B 354 424 395 819
bR T 641 581 652 1,233
AT IR 594 714 735 1,449
WETIR1 T H , 482 1,479 1,319 2,798
WATIR 2 T H , 377 2, 645 2, 458 5,103
WRETIR 3 T H , 567 1,651 1,477 3,128
WATIR 4 T H 449 528 469 997
WAETIR5 T H 819 772 747 1,519
RPTRFIE 1 T B ,328 1, 450 1,292 2, 742
HWHTRFIE 2 T H L 312 1,360 1,304 2, 664
WHTRAIE 3 T H 866 951 876 1,827
<TDEHE1ITH 435 288 374 662
<TDEH2TH 716 660 596 1,256
<TDEHE3ITH 887 727 817 1,544
HER 1T H 149 153 142 295
TER2TH 412 529 503 1,032
HEm 3 T H 548 604 591 1,195
TER4TH 598 652 648 1,300
MMRE1TH 681 763 784 1,547
MMRE2TH 710 768 844 1,612
INFFRFE1TH 551 614 677 1,291
INFEFRFE 2 TH 548 573 621 1,194
INFfER 3T H 899 1,020 969 1,989
INFfER4 T H 798 963 961 1,924
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i) W A (59) AR (&) AR GH
INFHER 5 T H 563 766 691 1,457
/INFFERG 6 T H 605 596 622 1,218
/INFFEET 5 T H 585 593 590 1,183
WNFRRTET 1 T H 760 765 724 1,489
/WNFfRTET 2 T H 563 617 596 1,213
/NFFRTHT 3 T H 832 1,040 1,038 2,078
JEEFHHET 1 T H 91 105 116 221
LB 2 T H 26 36 21 57
¥ 1 TH 278 312 309 621
¥ 2 TH 158 182 187 369
¥ 3 TH 188 140 200 340
B 1 TH 99 120 128 248
kB2 TH 141 177 176 353
B3 TH 144 169 178 347
EFH1TH 825 807 812 1,619
E#FH2TH 1,250 1,375 1,341 2,716
EHFIE3ITH 1,396 1, 562 1,571 3,133
EHFI4TH 1,324 1,445 1, 549 2,994
EHFIESTH 1,685 1,882 1,913 3,795
INEEE 886 973 962 1,935



















